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Year 9 — Reasoning with Numbers
Maths & Money

Want to know more?
Scan the QR code to
visit the curriculum
overview for Year 9

Maths, including topic

summaries, key
words, and books that
you may want to read

in your own time ‘

Suggested reading
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number of units
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. What do [ need to be able :lhﬂMordS |
I I
| {o do? : | Credt: money beng placed into a bark account :
| By the end of th unt you shotibe able tor | | Debi: rrIoneg that leaves a b@nk account I
|, Sl o it b o bk | | Balance: the amount of money in a bark account I
: didempnis | : Experse: a cost/ outgoing |
|+ Cacuate smpl interest )y Deposit: an initial payment (often a way of securing an tem you wil later pay for) :
| « Cakulate compound interest : | Multipler: a number you are mutlipyng by (Muttipier more than | = increasing less than | = decredsing) |
|« Caculate wages and taxes I | Per Onnum: ecch year I
: * Solve wnt prcing problems | : Unitary: one. — the. cost of one :
s i s i, i e e s s _
| Bl and Bork Statements || Smpk interest g i
| Biks — tel you the amourt items cost and can show how | For each year of investment the interest remains the. same 250 :
: much morey o need o o, [ Price : | Principal amount xInterest Rate x YearN |
| Some can nclude a total | : 100 150 |
| Look for dfferent units M B3p | | Principal amount s the amount nvested in the account 100 :
| (sitinpence or ponds) | Teq £1.50 | |1 eglvest £100 at 30/ smple interest for 4 years 50 l_l |
: Il 100x30x4 _ o0 This account eamed £120 interest 0 |
| Bark Statements : L 100 Tk 0t the end of year 4 they have £220 01 2 3 4 ‘(mr_!
| Bark statement can have negative bdarces if themoney | (2 — —— =~~~ T T T T T T T T T TR T T T T T T T T =1
| spent is higher than the money coming into the acconnt | |COIYIPOUI d Interest 300 = :
: || terest is added to the current valve of investment at. the 250 |
| Date | Description | Credt | Debt | Baance | : end of each year so the next year's interest is greater o~ SE |
; I
: SIZ;JI Sclary £4a00 k30 : [ Principal amount X MultiplierYe"=‘rs 150 I
N I 100 I
: ;Z;t Mortgage £60b £ : : eg hvest £100 at 307 compound interest for 4 years o I
| " | | 100 x 1 3% = £285.61 This account has £285.61 in totdl |
25 B Mony £15 £915 . : 0 |
| & i Foney I at the end of the 4 years 0 1 2 3 4
e e —————— ...
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| Valbe. Odded Tax (VOT) : | Wages and Taxes | 1 Exe Rates :
' | : Sdlares fal o tax brackets — which means they | : 4 |
| vaT s payabe to the government by a pay this much each month from their salany I Lt
| Il | »{ $1.40 l
| Dovess hthe S WOT s 20/ and — — L £1 i B |
added to ttems that are. bought | arabe Income | TexRote |
I I £1250110 £50 000 20% I I I
I I I £50001to £150 000 40% I I X 200 X 200 I
: Essential tems sueh as food do not : : over £150 000 45% I : \ 4 \ 4 :
nchde VOT Over time | .
| 11 Tune a1 bkt mears: (5 tames ther hourly rate I I £200 ™ £280 I
I J' l_DoubIe—;I times their hourly rate | : x 1.4 :
e | S P ——
ittt I I
[ L I When making estimates it is also useful to use estimates to |
| Unit Pric To cacuate it per cost you dvide by~ | : check if our solution is reasonable |
: 4 Oranges 5 cupcakes the cost : | |
| £1 £1.20 e ey I : Use. inverse. operations to reverse. the exchange process :
I
I 4 = £1.00 D +2 5=£120 e s e orepest e | : Common Currencies :
| 2=£050 +5 : 1| United Fingdom £ Pords | |
I .2 There & a drectly proportiondl 1 United States of Omerica S Dolars [
: 1=£025 ¢~ 1=£0.20 relationship between the cost and (1| Europe £ Euros :
I
I I



